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QUESTION 1

Why is synchronized operation used in LTE TDD base stations? 

A. to allow downlink MIMO to be used 

B. to allow handovers to LTE FDD carriers 

C. to achieve good RACH timing accuracy 

D. to reduce interference between uplink and downlink 

Correct Answer: D 

 

QUESTION 2

You are using the Performance Measurements system for Ericsson WCDMA network analysis and must use predefined
counters. 

On which two levels would these counters be collected? (Choose two.) 

A. the cell level 

B. the TRX level 

C. the RNC level 

D. the BSC level 

Correct Answer: AC 

 

QUESTION 3

What is an advantage of using flexible numerology in New Radio (NR) 5G? 

A. It allows an alphanumeric mapping between physical data channels on coslted LTE and NR in non-standalone
scenarios. 

B. It provides a non defined link between subcarriers used in LTE and NR. 

C. It ensures that the same subcarrier bandwidth is used in NR in both high and low frequencies. 

D. It maintains a more consistent overhead over a very large range of carrier frequencies. 

Correct Answer: A 

 

QUESTION 4

A user is making a call on an LTE network. 
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In this scenario, which encoding schemes are used? 

A. OFDMA in downlink, COMA in uplink 

B. CDMA in downlink, SC-FOMA in uplink 

C. SC-FDMA in downlink, OFDMA in uplink 

D. OFDMA in downlink, SC-FDMA in uplink 

Correct Answer: D 

 

QUESTION 5

Which identifier is used for locating a UE in a standalone LTE network? 

A. RAC 

B. TAC 

C. LAC 

D. URAC 

Correct Answer: B 
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